®

%, e{)
€ active play °

&
NN

Discovery Woodland Treehouse
Assembly Instructions

Cabane dans les arbres
Instructions de montage

Casa de arbol
Instrucciones de montaje

Casetta sull'albero
Istruzioni di montaggio

Baumhaus
Montageanleitung

27622AD69

VA

FSC
www.fsc.org ‘ k @ o . .
. .
100% )
Wood from well- X6 e 4:00 » H "
managed forests ° °

FSC® C021153

Q.
C
3
=X
Q
~<




EN Thank you for purchasing from Plum®
Plum® are the playtime specialists providing
the fuel for imaginations to flourish. For over
30 years we've been inspiring fun across the
globe. We are passionate about encouraging
play in a fun yet safe environment, allowing
children freedom of play and parents peace
of mind.

FR Nous vous remercions d'avoir acheté
un produit Plum®

Spécialiste du divertissement, Plum® propose
des produits ludigues visant a stimuler
limagination des enfants. Depuis plus de 30
ans, le jeu et le divertissement sont au coeur
de notre activité. Nous avons pour vocation
de favoriser le jeu dans un environnement
amusant et sdr, en offrant un espace amu-
sant pour les enfants et la tranquillité d'esprit
aux parents.

ES Gracias por comprar productos de
Plum®

Plum®, especializada en actividades de ocio,
da alas a la imaginacién de los nifios. Durante
mas de 30 afios fomentamos la diversion

en todo el mundo. Nos apasiona que los
nifios jueguen en un entorno divertido pero
seguro, dotandoles a ellos de la libertad que
necesitan y a los padres de la tranquilidad
que buscan.

IT Grazie per aver acquistato da Plum®
Plum® e lo specialista dei giochi che nutrono
limmaginazione. Da pit di 30 anni siamo
fonte di divertimento in tutto il mondo. Ci
appassiona incoraggiare l'attivita ludica in un
contesto sicuro e al tempo stesso divertente,
dove i bambini sian liberi di giocare e i geni-
tori possano stare tranquilli.

DE Danke, dass Sie bei Plum® eingekauft
haben

Plum® sind die Spezialisten fur Spielsachen.
Wir sorgen daflr, dass sich die Fantasie lhrer
Kinder frei entfaltet. Seit Gber 30 Jahren sor-
gen wir Uberall auf der Welt daftr, dass Kind-
er Spald haben. Wir lieben es, Kinder in einem
spaldigen und dennoch sicheren Umfeld zum
Spielen zu bringen. Dies sorgt bei Kindern fur
freien Spielspald und bei Eltern fur ein ruhiges
Gewissen.

G105 dpowzIO Plum® AR
g Plum® i ,d8 (ab'tuouoa S
110 1JOs G 1 ©bsg)
IJOEsd. 070 00Uy 1JB,z8 B
ldgld(a ddo &ds (abb gy, ‘=Q 30 &lfl.
Oz pOzewss Jouizse IUIdglo
g9§ 9§E§5 mub&& 9Jd el |<=Q5 <=<=|
$eoz Wb zasd Il sspoz
Tgl;oe )‘ta Ug‘d
PL Dziekujemy za dokonanie zakupu od
Plum®
Plum® to eksperci od zabawy wspomagajacy
rozwdj dzieciecej wyobraZni. Od ponad 30
inspirujemy do zabawy matych mieszkaricéw
catego globu. Nasza pasja jest zachecanie do
zabawy w przyjaznym, bezpiecznym otocze-

niu. Dzieciom zapewniamy swobode zabawy,
a rodzicom - spokdj ducha.

SV Tack for att du handlar fran Plum®
Plum® &r lekspecialisterna som later fantasin
blomma. Under éver 30 ar har vi inspirerat
lek och gladje varlden 6ver. Vi vill uppmuntra
lek i en rolig men anda saker miljo, som ger
barnen frihet och Iater foréldrarna slippa oro.

NL Bedankt dat u een product van Plum®
hebt gekocht

Plum® is dé speelgoedspecialist die alle
dromen werkelijkheid laat worden. We
zorgen al meer dan 30 jaar wereldwijd voor
veel plezier. We stimuleren kinderen graag
om te spelen in leuke maar veilige omgevin-
gen. Wij bieden kinderen vrijheid en ouders
srust.

CZ Dé&kujeme vam, Ze nakupujete u firmy
Plum®

Firma Plum® se specializuje na volny cas,
dodava kridla fantazii a privadi ji k rozkve-

tu. Inspirujeme zabavu na celém svété uz
plnych 30 let. Nasi vasni je povzbuzovat déti k
zabavnym hradm v bezpecném prostredi, které
jim poskytuje svobodu pfi hfe a rodic¢tim klid
a jistotu.

SK Dakujeme, Ze ste si kapili vyrobok od
spolo¢nosti Plum®

Plum® je Specialistom na hru a podporuje
zdravy rozkvet predstavivosti. Viac ako 30
rokov indpirujeme svet zabavou. Nasou
vasnou je podporovat hru v bezpe¢nom
prostredi, kde sa m6zu deti slobodne hrat a
rodic¢ia sa 0 ne nemusia obavat.

DA Tak, fordi du kebte et produkt fra
Plum®

Plum® er specialister inden for leg og far
fantasien til at stortrives. | mere end 30 ar har
vi veeret inspiration for sjov over hele kloden.
Det ligger os meget pa hjerte at fa barn til

at lege i et sjovt og sikkert miljg, hvor de har
frined til at lege og forzeldrene ro i sindet.

HU Ko6szonjuk, hogy Plum® terméket
vasarolt!

A Plum® a jatékok szakértdje, szarnyakat ad a
gyermekek képzel&erejének. Mar tobb mint
30 éve inspiraljuk a vidam jatékot az egész
vilagon. Szenvedélylnk a jatszas 0sztonzése
egy vidam és biztonsagos kornyezetben, ame-
ly a jaték szabadsagat adja a gyermekeknek
és nyugalmat a szuléknek.

TR Plum® Urtini aldiginiz icin tesekkir
ederiz

Plum®, hayal glcinin gelismesi icin gerekli
yakiti saglayan oyun zamani uzmanidir. 30
yildan uzun suredir diinya Uzerinde eglence
konusunda ilham kaynaglyiz. Eglenceli ama
ayni zamanda glvenli ortamlarda oyun oyna-
may! tesvik ederek ¢ocuklara oyun oynama
dzgurligu, anne-babalara da zihin rahathg
sagliyoruz.

EL Zag guXapLOTOUE TIOU TIPOTLPACATE
tnv Plum®

H Plum® el8LkeVeTal 0TOUG XWPOUG
TIaVLSLoU PE OTOXO TNV avamtuén tng
pavtactag. ESW kat tapandvw amno

30 xpovia, epmveoupe TV Yuyaywyla

o€ OAOV Tov TTAavrtn. MNdbog pag etvat

va evBappuVoupE To TtayvidL oe eva
buxaywykd aAd Kat aoPaAEG TEEPLRAANOVY,
Tapexovtag eAeuBepla ota matdLd kat npepla
0ToUG Yovelg Touc.

ZH R IE SEP um®r” i,

Plum®E L X Br A, RATHIE
RMORZ TR RS . i 304F
DLk, FRAIEAERE Hheh #7017k
PRIR o FRATH L FARAE BE AR R
FEE 22N 112 50
R, i TATE HBEEMDE S,
[] B 4 2 A % T2 A AR

IS pakka pér fyrir ad versla vid Plum®
Plum® eru leikjasérfraedingar sem Utvega elds-
neytid sem feer imyndunaraflid til ad blémstra.
[ meira en 30 &r hofum vid hvatt til skemmtu-
nar um allan heim. Vid héfum astridu fyrir ad
hvetja til leiks f skemmtilegu, druggu umhverfi,
sem veitir bérnunum frelsi til ad leika sér og
foreldrum hugarro.

FlI Kiitos, etta ostit Plum®-tuotteen

Plum® on leikin ja vapaa-ajan asiantuntijay-
ritys, joka tarjoaa kasvualustan mielikuvituk-
selle. Olemme innostaneet ihmisia hauskan-
pitoon kaikkialla maailmassa jo 30 vuoden
ajan. Meille on tarkeaa kannustaa leikkimi-
seen hauskassa ja turvallisessa ymparistossa,
jossa lapset voivat leikkia vapaasti ja aikuiset
olla rauhallisin mielin.

P T I ARG E I
HOMNEITEHEL I

T ILGRIE RIS &€ B4R E
TRWPDARY v Y A FTF. 30
FbloHRR T, B S 2Rt
LT& &Lz, Tt b B HBICEE
N, B moTcEd L. EBLL
e R TBRIE TSN L DI AE Ao
THERL T ET.

NO Takk for at du kjgpte fra Plum®

Plum® er laget av lekespesialister som hjelper
fantasien & blomstre. | over 30 &r har vi inspir-
ert til moro over hele verden. Vi har et sterkt
@nske om a oppmuntre til lek i et morsomt,
men trygt miljg, slik at barn far leke fritt mens
foreldrene ser at de er trygge.

PT Obrigado por comprar na Plum®

A Plum® é a especialista em diversdo que
proporciona o incentivo para o desenvolvi-
mento da imaginac¢do. Ha mais de 30 anos
que inspiramos a diversdo em todo o mundo.
Somos apaixonados por incentivar a diversdo
num ambiente divertido, mas seguro, ofere-
cendo as criangas a liberdade para brincar e
aos pais toda a tranquilidade.

RO Va multumim pentru cumparaturile
facute la Plum®

Compania Plum® este specializatd in articole
recreative, stimuland dezvoltarea imagi-
natiei. De peste 30 de ani, oferim inspiratie
pentru distractie In Intreaga lume. ncurajédm
Cu pasiune joaca intr-un mediu distractiv si
sigur in acelasi timp, asigurandu-le copiilor
libertate de manifestare, iar parintilor, liniste
sufleteasca.

RU Bnarogapvim 3a Nokynky npojykra
Plum®

Komnanua Plum® cneuvanusnpyeTcd Ha
MFPOBOI NHAYCTPUW U CO3AaET YCNOBUS ANs
pasBuTNSE BOOOpaxeHns. Yxe 6onee 30 net
Mbl JapUM PajoCTb FOAAM MO BCEMY MUPY.
Mbl CTapaemMcs BAOXHOBAATL VX Ha Becenble
Nrpbl B 6€30MacHOM cpeje, AapyM AeTAM
CB0OOZY, @ POANTENAM — CMOKOUCTBHE.

KR Plumol|A] ol A4 AR o

Plum'2 o] && mojd 4 = A8E
Algshs =olof A7y 301 o] 4e] Al
752 Plum'2 A A|Alo] 24 E=ido
7 g5yt Plum'e QHEshHA 2 2)0] Qe
ol 5ol & P, ool EolAlE =
AR5, FEENAE ok ¢HAS AAlshe

Bloll 2Alghct.



EN Advisory Section

To ensure the safety of you, the installer and your children,
it is important that these instructions are read fully before
commencing the positioning and installation of this product.

Timber Advice

This product has been made from premium timber. Great care has
been taken in selecting, treating and machining the timber before
it is presented to you. Timber is a natural product and as such may
experience changes throughout the course of its life. This means it
may:

- Develop openings (gaps, slits, apertures, cracks, splits) along
the line of the grain. These openings are due to the difference in
moisture content between the internal and outer surfaces of the
timber. This is to be expected, is totally acceptable and will not
affect the integral strength, life or guarantee of the product.

- Warp and distort its shape. Any distortion will be slight and will not
affect the safety or enjoyment of this product.

Fade as the timber reacts with sunlight. The timber should
be treated with a proprietary product to act as a protective
barrier, i.e. a water repellent, on an annual basis.

- After first year of service treat product with a good quality
treatment safe for children'’s use.

Biocidal Products Regulations EU 528/2012

Wolmanit CX-8WB treated wood is a treated article that incorperates
biocidal products: Copper hydroxide carbonate/ll/boric acid. They
protect wood against decay/rot/insect attack. Keep away from food,
drink and animal feeding stuffs.

Routine Maintenance

During long periods of non use (particularly during the winter)

it is suggested that attachments such as swings are dismantled
and stored in a dry environment. This will prolong the life of such
attachments.

WARNING!

Minimum user age 3+ years * Adult assembly required * Adult
supervision required at all times + Only for domestic use + Outdoor use
only + Not suitable for children under 36 months: small parts - choking
hazard, hemispheric shapes - suffocation hazard - Not suitable for
children under 36 months - fall hazard + Retain assembly instruction
for future use - Place on a level surface at least 2m from any structure
or obstruction such as fence, garage, house, overhanging branches,
laundry lines or electrical wires + Must not be installed over concrete,
asphalt or any other hard surface - It is advised that on a regular
basis (i.e. at the beginning of the season and monthly thereafter) all
main parts/fixings are checked as secure, well oiled (if metallic), have
no sharp points/edges and are intact. Replace, oil and/or tighten
when necessary. Failure to do so may result in an injury or hazard -
Any attachments such as swings, chains, ropes, etc must be regularly
examined for evidence of deterioration. Replace any attachments

if there are signs of deterioration. Failure to do so may resultin an
injury or hazard - Please keep animals at a safe distance from this
product + Do not place the material in the mouth + Wash hands

after use + Warning: In predisposed subjects, it may cause allergic
reactions + Maximum load on beam 10kg - Maximum user weight
50kg + It may be appropriate to ensure that the slide is not facing the
main direction of the sun to prevent the surface being uncomfortably
warm + Do not overtighten nuts and screws as this may cause them
to shear and potentially cause structural failure - Please do not make
any modifications to the product, it may result in an injury or hazard *
Warning. Not suitable for children under 36 months. Long cord/Long

chain. Strangulation hazard.

*UK only

Register online now for your
extended warranty!

Visit our website at: www.plumplay.co.uk/register
Warranty Number: 27622AD69



D2179

D3416

S

D3276

i\
D2176 —
? D2172
D2177 | | D
D3280— | 4
:
D3308— D2175 D2178
D2160x3  612x68x44mm D2169x2  1118x88x18mm D2177 x1  723x552x18mm D3280 x4 610x118x18mm
D2161 x1  1030x68x28mm D2170x2  1118x88x18mm D2178 x5  593x28x28mm D3305x1T  411x44x18mm
D2162x2  275x34x18mm D2171 x2  1084x88x18mm D2179x1  300x100x100mm | D3307 x1  500x68x68mm
D2163 x2 627x88x18mm D2172 x2  980x88x18mm D2180x6  500x70x33mm D3308 x1  612x68x44mm
D2164 x1  612x68x44mm D2173 x1  612x68x44mm D3276 x4  1556x120x58mm | D3309 x1  500x70x35mm
D2165x1  100x30x20mm D2175x4  625x100x48mm D3277 x2  1910x120x60mm | D3416 x1  660x88x44mm
D2168 x1  1118x88x18mm D2176 x4  500x100x50mm D3278 x2  1024x68x44mm
D3345 ———————
D3343

D2262

L p2183 D2185—
D3347 —
D2183 x3 270x88x12mm D2262 x4 252x28%x28mm D3345 x2 105x88x18mm
D2184 x2 494x88x12mm D3343 X1 508x117x18mm D3346 X1 562x88x18mm
D2185 x6 270x88x12mm D3344 X1 423x88x12mm D3347 x1 562x88x18mm




QX” | D3276x4 60x120x1556mm D3277 2 60x120x1910mm

1] | ) 5 )

O D2160 x3  44x68x612mm D2168 x1  18x88x1118mm
‘ . [5) @ ° ° °
o o . . .
D2161 xT  28x68x1030mm D2169x2  18x88x1118mm
D2162 x2  18x34x275mm D2170 x2 18x88x1118mm
PN lj . J
D2163 x2  18x88x627mm D2171x2  18x88x1084mm
D2164 x1  44x68x612mm D2172 x2 18x88x980mm
) N © ° e °
o . ® f . .
D2165x1T  20x30x100mm D2173 x1 44x68x612mm
L1/ o .
o ° ° o
D2178 x5 28x28x593mm D3280 x4 610x118x18mm
e\ f °
[e o
D3346 x1 562x88x18mm 2 2
R B D3305 x1 411x44x18mm
. . [ e o |
D2183 x3 12x88x270mm D3307 x1 500x68x68mMm

D2184x2  12x88x494mm D3308x1  612x68x44mm

° ° °
o °
° o o o °

D2185x6  12x88x270mm D3347 x1 562x88x18mm

D2262 x4  28x28x252mm

K] D3343 x1 508x117x18mm

D3278 x2  44x68x1024mm / /.<:> I <:> | O\\

D3344x1 ~ 423x88x12mm D3345x2 105x88x18mm | D3416x1  44x88x660mm
o o o o
(5] o o o
A | D2180x6  33x70x500mm D3309x1  35x70x500mm
® © ° °
o o
D2175 x4 48x100x625mm D2176 x4 50x100x500mm| D2179 x1 100x100x300mm
Z : ® @ @ @

O—C D2177 x1 18x552x723mm




M3 x25 D agM8x 110 I x2 | H405 x1 H182 X1
FIX0105 [.25mm ] FIX0154 S 110mm____| K( ﬁ
M3 x30 Do x14 !
M6 ()
—" x5 |[M8 x15
FIX0157 [__30mm V. 97.>< FIXOO93©
M3.5x 30 %5 |M8 M8 H185x3
FIX0075 |_30mm_| 16mm  (E)5|25mm (2 e
FIX0085 FIX0086
M3.5 X 40 P> %15 ~
FIX0077 40mm M8 /1 x12
FIX0170 \*
M4 x 40 [ nemmmmme ¥12
Fxo164 L_40mm | M10 X1
FIX0002 AP
(VZBUQEIO) 1
FIX0165 | 60mm | H238 gr; TRAAA] %e x4
M5 x 40 = X66
FIX0173 [ 40mm | x8 M5 x8
M5 x 60 2
FIX0174 | 60mm |
M5 X 70 '\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\> X36
FIX0033 | 70mm
: 23322 x1
M8 x 40 3 ‘
FIX0114
H11 x4 & 3)
Ve x>0 | x4 M6 x 40 B x4
FIX0066 O
M8 x 70 6 )
FX0167 2 70mm 7 @)
< 2700mm
[ | | \ I\ LN
\ | 1 / l miiil

Height: 1930mm







M5 x 60

D3277 x2

D2160 X1
el P

FIXO174 Bomme X4 [

M5 x 60
FIXO174 [ 4

D3276 x2

D2160 X1
e

v

| ]




D2164 x1

ol

M5 x 60
FIXO174 [~ 4 D3276 x2 | ]

- 2N J

M8 Sv
FX0170 Qg 2 D2173x1




m\'mm!lll

\Yj

M5 x 60  <mumwww( x4
FIX0174 |60mm ]

D2160 x1

M5 x 60 W x4
FIX0174 |-60mm |

o4

2

10




Rl O | Al W|IN| =

J

-

M8

@
X170 O X

/A

U

\

FIX0174 60mm

D3308 x1

° ° °
° o ° o °

11



] Oo| N[ B WIN|—

)

M5 x 40

< 20
FX0173 |-40mm ]

D2163 x2

D2162 X2 oo~

D2172 x2 © e

M5 x 70
FIX0033

70mm x4

D2161 x1

12




O|o| ||| DW=

M5 X 40 <wwmmmwmm(| %28
FIX0173 =40mm ]

%

FIX0173 | 40mm _|

13



M8 .>" T i
FIX0170 \‘g x8  D3030x1T < i i N

M8 4 |\/|8 X 70 x4
FIX0086 & ~ _FIX0167

OD 25mm

A
mg Fix0093 @) *4 . 7omm

14



®
® @
@ @
J

===

(
{
€

i

A

M5 x 70
<] x4
Fx0033 [70mm |

D2175 x1

@ [©
© 9

Y

M5 x 70

FIX0033 70mm

D2175 x1

©

[0}

©

®

15



3

Z A

M3.5 x40
/

-
-

oz [/
M3.5x40 <o  x1
FIX0077 LMJ
M5 x 70

< 4
FIX0033 _70mm _|

D2175 x1

© [0
© Q

/

— |~
( T
~—
N J
C = _
— | _—
L — M5 X 70 <] x4
o/ L] FIX0033 |- Z0mm ]
ndl L D2175 x1
m - g @’Q

©

®

16



11 |
N
D2176 x4
— ° | _ $50mm
57? ., S ,,
( JLI | I62mm
P . o °
B - 5 | | . I62mm
tE Ny § ,J—I_, | _ I62mm
—— \ ° :
/ \\ | B
=l N =
|y4/‘l/$! M5 x 60
\ : X017 [l x16
|// - D3280 x4
< D804 ,

17




J

[ T[]

\, L\ 7
M3.5 X 40 < x10
FIX0077 40mm
D2178 x5
~Z_ >

M8  FIX0093 @ X2

M8 FIX0085 (&) x2

D2179 x1

OD 16mm

M8 x 40 ]
FIX0114 ﬂoﬂmEm

18




M8 FIX0093 @ X4
M8 x 50

4
FIX0066 50mm "

M10 @ M8 x 40
X1 X1
FIX0002 FIXO114 |_40mm :
M8 X1
FIX0093 @

M8 &)
FIX0085 .

OD 16mm

19



M8 FIX0093 @ X2

M8 FIX0085 2

M8 x 70 X2
70mm

D3278 x2
L

D3305 x1

M4 x 40 M X2
FIX0164 |40mm _|

20



: © TO e,
/ | | I 75mm
e (0 D2180 e
[Q £ | | I 75mm
e (3 D2180 e
| | I 75mm
o (1 D2180 e
| | I 75mm
o (5 D2180 e
E i i E I75mm
e (& D2180 e
| | I 75mm
e () D2180 e

1%

M4 x 60  <wmwwww( X176
FX0165 |.60mm |
D3309 x1
D2180 x6
E g
------ ~<smmmm( / . I/
...... - | @ l
""" - | [ M
[— 7/
------ -~ i l
i
------ ~<smmmm
------ <t
D2185 x3
[ /
© ©
© ©
V3 ¥ 25 12 D2262 x2
FIX0105 |.25mm [/ ]

21



M3 x 25
FIX0105

25mm

x12

D2185x3

[ ]
© )
© ©

D2262 x2

.

|

M3 x 25
FIX0105

25mm

x12

D2183 x3

[
® ]
@ @

22




M3 x 25

D2184 x2
\ M3 x 25 [)ng;nm| 8 .
mm
FIX0105 . .
\ M3 x 30 [
FIX0157 | 30mm _ |X4 D3347x
o © ° o

M4 x 40

<t x4
FIX0164 40mm

23



M3 x 30 e
FIX0157 | 30mm _ |*4

M3 x 25

FX0105 | 25mm | **

D3344 x1 423x88x12mm

D3346 x1 562x88x18mm

D3345 x2
105x88x18mm

M3 x 30 |
FIX0157 | 30mm _| 6

D3343 x1 508x117x12mm

OOTN

24




e

/

M3.5 x40

<t
FIX0164 40mm

NS

IRERINELN

/

D2177 x1

M4 x 40 —
FIX0164 40mm

25



/)

AR,
TS
(& ‘-.@\
@O

((

\RY
\

)Y

()

M6
FIX0097 @ x5

M3.5x30 <
FX0075  |-30mm_j X

X2

=

/é[

26



M8 o M8x110
FIX0093 @ FIX0154 T70mm X2
VS . 5 D3307x1  500x68x68mm
F|X0086 X

OD 25mm . .

23322 x1

M5 x 60

AX0174 |_60mm_| *2

27



28



H186 x1

29



30



FR Consignes de sécurité

Pour garantir votre sécurité et celle de vos enfants, veuillez lire la
présente notice avant de monter et de mettre en place le bac a sable.

Veuillez respecter les consignes suivantes pour garantir la sécurité de
vos enfants.

Informations relatives au bois utilisé

Ce produit a été fabriqué a partir de bois de qualité soigneusement
sélectionné, traité et transformé Le bois étant un produit naturel, il
peut changer d'aspect au fil du temps. Ces changements peuvent se
manifester sous la forme:

- De fentes, trous, fissures, etc. dans le sens des fibres du
bois. Ce phénomene, dU a la différence d’hygrométrie entre
la surface et I'intérieur du bois, est inévitable, tout a fait
normal et n'a aucun effet sur la solidité, la durée de vie et la
garantie du bac.

- De légeres déformations (retrait et gonflement) qui n‘ont
aucun effet sur la sécurité ou l'utilisation du bac.

- De décolorations dues au soleil. Appliquez tous les ans
un traitement de protection approprié (p. ex. un produit
hydrofuge) sur le bois.

- Aubout de la premiere année, utilisez un produit d'entretien
répondant a la norme jouet.

Reglement relatif aux produits biocides (UE n°528/2012)

Le bois traité au Wolmanit CX-8WB est un article traité dans lequel
plusieurs produits biocides ont été délibérément incorporés :
I'nydroxyde carbonate de cuivre/ll/acide borique. Ils protegent le bois
contre la décomposition/les moisissures/I'attaque des insectes. Tenir
a I'écart des produits alimentaires, des boissons et de la nourriture

pour animaux.
Entretien

En cas de non-utilisation pendant une période prolongée (en particulier
pendant la saison hivernale) il est recommandé de démonter les
accessoires, notamment les balangoires, et de les entreposer dans un
endroit sec pour prolonger leur durée de vie

ATTENTION!

Age minimum de ['utilisateur 3 ans + Assemblage par un adulte
nécessaire + Ne jamais laisser un enfant jouer sans surveillance + Usage
domestique uniquement - Destiné a 'usage externe uniquement + Ne
convient pas aux enfants de moins de 36 mois: petites pieces - risque
d'étouffement, formes hémisphérigues - risque de suffocation * Ne
convient pas aux enfants de moins de 36 mois - risque de chute *
Conservez les instructions de montage pour référence ultérieure -
Placez sur une surface plae a au moins 2 metres de toute structure ou
obstacle tel que des barrieres, un garage, une maison, des branches,
des cordes a linge ou des fils électriques + Ne doit pas étre installée
sur du béton, de 'asphalte ou d'autres surfaces dures - Il est conseillé
dinspecter régulierement (a savoir au début d'une saison et chaque
mois ensuite) le bon état des parties principales et des fixations, que
tout soit bien huilé (dans le cas de pieces métalliques), a ce quil n'y

ait rien de saillant et a ce que tout soit intact. Remplacez, huilez et/

ou resserrez le cas échéant. Le non suivi de ces précautions risque

de blesser ou de poser un danger * Tous les accessoires attachés tels
que les balancoires, les chaines, cordes etc. doivent étre régulierement
inspectés pour déceler la présence de détériorations. Remplacez les
accessoires attachés en cas de signes de détérioration. Le non suivi
de ces précautions risque de blesser ou de poser un danger - Tenir

a lécart des animaux * Ne pas mettre en bouche + Se laver les mains
apres usage * Attention : peut causer des réactions allergiques chez
les personnes prédisposées - Poids maximum de l'utilisateur 50kg - I
est préférable de ne pas installer le toboggan face au soleil pour éviter
que la surface de glissade soit trop chaude + Ne pas trop serrer les
écrous et les vis étant donné que cela peut provoquer leur cisaillement
et pourrait provoquer une défaillance de la structure - Veuillez s'il
vous plait ne pas apporter de modification au produit, cela pourrait
provoquer une blessure ou créer un danger - Attention. Ne convient
pas aux enfants de moins de 36 mois. Longue corde/Longue chaine.
Danger de strangulation.

L'extension de garantie est uniquement disponible au RU.
ES Seccion de asesoramiento

Para garantizar su seguridad, la del instalador vy la de sus hijos, es impor-
tante que lea completamente estas instrucciones antes de comenzar a
colocar e instalar este producto.

Recomendaciones para la madera

Este producto se ha fabricado con madera de alta calidad. Hemos cuida-
do en detalle la seleccion, el tratamiento y la mecanizacién de la madera
antes de ofrecérsela. La madera es un producto natural y, como tal,
experimenta cambios en el curso de su vida. Esto significa que podria:

- Presentar grietas (brechas, rendijas, aperturas, rajas, fracturas) en la
Iinea del grano. Estas aperturas de deben a la diferencia de humedad
existente entre las superficies internas y externas de la madera. Es
de esperar, es totalmente aceptable y no afectara a la resistencia
integral, la duracion o la garantia del producto.

- Deformacion y distorsién de su forma. Cualquier distorsion sera leve
y no afectara a la seguridad ni al disfrute del producto.

- Pérdida de color por el efecto de la luz del sol. La madera se deberia
tratar con un producto patentado que actlie como barrera protecto-
ra, por ejemplo, un producto hidréfugo, una vez al afio.

- Tras el primer afio de uso, aplique un tratamiento de buena calidad
seguro para el uso de los nifios..

Reglamento sobre productos biocidas EU 528/2012

La madera tratada Wolmanit CX-8WB es un articulo tratado que incor-
pora productos biocidas: Carbonato hidroxido de cobre/Il/acido borico.
Protegen la madera del deterioro, la descomposicion y los ataques de
insectos. Manténganse alejados de la comida, la bebida y los utensilios
para alimentar a los animales.

Mantenimiento rutinario

Durante largos periodos de inactividad (particularmente durante el
invierno), se sugiere que los accesorios oscilantes se desmonteny se
guarden en un lugar seco. Asi, se prolongara la vida de tales accesorios

AVERTENCIA

Edad minima del usuario 3 afios * El montaje de este juguete debe llevar-
lo a cabo un adulto - Se recomienda en todo momento la supervisién de
un adulto - Utilicese exclusivamente en el dmbito doméstico + Utilicese
exclusivamente al aire libre - No es conveniente para nifios menores de
36 meses: ya que posee partes pequefias que podrfan causar asfixia,
formas hemisféricas - Peligro de asfixia * No es conveniente para nifios
menores de 36 meses: peligro de caidas + Conserve las instrucciones de
montaje, ya que podrfa necesitarlas en el futuro + Colocar en una super-
ficie plana a, al menos, 2 m de distancia de estructuras u obstrucciones
tales como vallas, garajes, casas, ramas colgantes, tendales o cables eléc-
tricos + No debe instalarse sobre superficies asfaltadas ni cementadas ni
sobre cualquier otra superficie dura - Se aconseja comprobar regular-
mente (por ejemplo al principio de la temporada y, posteriormente, una
vez al mes) que todas las partes/fijaciones estén bien sujetas, ubricadas
(si son metalicas) e intactas y no presenten puntos ni bordes afilados.
Sustituya, lubrique o apriete las partes/fijaciones seglin sea necesario.
De no hacerlo, esto podria resultar en lesiones o situaciones peligrosas *
Debe comprobarse regularmente que los componentes como colum-
pios, cadenas, cuerdas, etc. no presenten signos de deterioro. En caso
de que algiin componente presente signos de deterioro, sustitlyalo.

De no hacerlo, esto podria resultar en lesiones o situaciones peligrosas

- Mantenga a los animales a una distancia segura de este producto -

No introduzca el material en la boca + Lave las manos después de cada
uso - Advertencia: puede provocar reacciones alérgicas en personas
predispuestas - Peso maximo del usuario: 50kg + Podrfa ser adecuado
garantizar que el tobogan no esté orientado en direccién al sol para evi-
tar que la superficie se caliente en exceso + No sobreapriete tuercas ni
tornillos. Esto podria provocar que se rompan y, potencialmente, causar
un fallo estructural + No realice modificaciones en el producto, podra
provocar lesiones o peligros - Advertencia. No conviene para menores
de 36 meses. Cuerda larga/Cadena larga. Peligro de estran-gulamiento.

IT Awertenze di sicurezza

Per la sicurezza del montatore, quella dei vostri bambini e la vostra, pri-
ma di iniziare la posa e il montaggio della sabbiera € importante leggere
attentamente queste istruzioni.

Caratteristiche del legno

Questo articolo e prodotto in legno di elevata qualita. Prima della vendi-
ta, il legno e stato selezionato, trattato e lavorato con cura.

Il legno & un prodotto naturale e quindi nel tempo puo subire dei cam-
biamenti che possono manifestarsi nel modo seguente:

- Formazione di fenditure (fori, fessure, crepe) lungo le fibre. Queste
aperture sono dovute alla differenza di umidita sulla superficie e allin-
terno del legno. Questo fenomeno & normalissimo e non influisce in

31



alcun modo sulla stabilita, la durata di vita e la garanzia del prodotto;

- Variazioni nella forma. Ogni cambiamento di forma & da considerarsi
minimo e non influisce in alcun modo sulla sicurezza di questo pro-
dotto;

- Scolorimento. L'esposizione diretta ai raggi solari puo provocare lo
scolorimento del legno, per cui ogni anno quest'ultimo andrebbe
protetto con un prodotto adatto
(per es. contro I'acqua

Dopo il primo anno trattare il prodotto con un prodotto di protezione
di elevata qualita, adatto per i giochi in legno per bambini

Regolamento UE n. 528/2012 sui biocidi

Il legno trattato con Wolmanit CX-8WB & un prodotto lavorato che incor-
pora carbonato rameico/acido borico, due biocidi. Proteggono il legno
da marcescenza, putrefazione e attacchi d'insetti. Conservare lontano da
alimenti, bevande e mangimi.

Manutenzione

In caso di inutilizzo prolungato (in particolare durante la stagione inver-
nale), si suggerisce di smontare gli accessori quali ad esempio le altalene
e conservarle all'asciutto per prolungarne la durata

ATTENZIONE!

Eta minima dellutente 3 anni * E necessario I'assemblaggio di un adulto

+ Si raccomanda sempre la supervisione di un adulto * Solo per uso do-
mestico + Solo per uso esterno + Non adatto a bambini al di sotto dei 36
mesi: contiene pezzi piccoli - pericolo di soffocamento, forme emisferi-
che - pericolo di soffocamento + Non adatto a bambini al di sotto dei 36
mesi. Pericolo di caduta + Conservare le istruzioni di assemblaggio per usi
futuri + Posizionare su una superficie piana di almeno 2 metri da qualsiasi
struttura o ostacolo come recinzione, garage, casa, rami sporgenti, linee
di lavanderia o cavi elettrici + Non deve essere installata sul cemento,
I'asfalto o qualsiasi altra superficie dura « Si consiglia, su base regolare (ad
es. allinizio della stagione e una volta al mese dopo di allora), di verificare
che tutte le parti/l'equipaggiamento principali siano sicuri, ben oliati (se
metallici), non presentino punte/ bordi taglienti e siano intatti. Se nec-
essario, sostituire, oliare e/o serrare. La mancata osservanza di queste
indicazioni potrebbe comportare infortuni o pericol * Qualsiasi elemento
fissato, come altalene, catene, corde, ecc. deve essere regolarmente
esaminato alla ricerca di segni di deterioramento. Sostituirlo se presenta
segni di deterioramento. La mancata osservanza di queste indicazioni
potrebbe comportare infortuni o pericoli * Tenere gli animali a distanza di
sicurezza da questo prodotto + Non mettere il materiale in bocca + Lavare
accuratamente la mani dopo l'uso + Awertenza: in soggetti predisposti
puod provocare reazioni allergiche + Peso massimo dell'utente 50kg

Si consiglia di non orientare lo scivolo verso il sole onde evitare che si
surriscaldi eccessivamente durante la giornata * Non serrare eccessiva-
mente i dadi e le viti, in quanto cid potrebbe causarne il taglio e poten-
zialmente un guasto strutturale * Si prega di non apportare modifiche al
prodotto, potrebbe provocare lesioni o rischi + Awertenza. Non adatto a
bambini di eta inferiore a 36 mesi. Corde lunghe / catene lunghe. Rischio
di strangolamento.

DE Sicherheitshinweise

Fur die Sicherheit des Monteurs, die Sicherheit Ihres Kindes und fur
Ihre eigene Sicherheit ist es wichtig, dass diese Anleitung vor Beginn der
Positionierung und Montage des Produkts vollstandig gelesen wird.

Hinweise zur Holzbeschaffenheit

Dieses Produkt wurde aus hochwertigem Holz hergestellt. Das Holz
wurde vor dem Verkauf sorgfaltig ausgewahlt, behandelt und bearbeitet.
Holz ist ein Naturprodukt und kann sich daher im Laufe der Zeit verdn-
dern. Die Veranderungen kdnnen sich wie folgt manifestieren:

- Eskonnen sich Offnungen (Llcken, Schlitze, Risse, Spalten) entlang
der Holzfaser bilden. Diese Offnungen entstehen durch den

Feuchtigkeitsunterschied auf der Holzoberflache und im Inneren des
Holzes. Dies ist zu erwarten, vollkommen akzeptabel und beein-
trachtigt die eigentliche Stabilitdt, Lebensdauer und Garantie des
Produktes keinesfalls.

- Veranderungen in der Form. Jegliche Formveranderung wird geringfu-
gig sein und die Sicherheit sowie die Freude an diesem Produkt nicht
beeintrachtigen.

- Das Holz kann unter Sonneneinstrahlung verblassen. Das Holz sollte
jedes Jahr mit einem geeigneten Produkt, z.B. zum Schutz vor Wasser,

32

behandelt werden.

Behandeln Sie das Produkt nach dem ersten Gebrauchsjahr
mit einem hochwertigen Pflegemittel, das fUr den Einsatz an Kindersel-
zeug geeignet ist.

Verordnung (EU) Nr. 528/2012 zu Biozidprodukten

Mit Wolmanit CX-8WB behandeltes Holz ist ein behandeltes Produkt,
das die folgenden Biozidprodukte enthalt: Kupferhydroxidcarbonat/Il/
Borsaure. Diese schitzen Holz vor Faulnis, Verrottung und Insektenbe-
fall. Von Lebensmitteln, Getranken und Tiernahrung fernhalten.

Instandhaltung

Es wird empfohlen, dass Gerate wie Schaukeln bei langerer Nichtver-
wendung (insbesondere im Winter) abgebaut und an einem trockenen
Ort gelagert werden. Dies verlangert die Lebensdauer eines solchen

ACHTUNG!

Das Mindestalter fir Benutzer betrdgt 3 Jahre + Montage muss durch
einen Erwachsenen erfolgen + Sollte nur unter unmittelbarer Aufsicht von
Erwachsenen benutzt werden « Nur zur Nutzung im Freien geeignet « Nur
fUr den privaten Gebrauch « Nicht fur Kinder unter 36 Monaten geeignet:
Kleinteile - Erstickungsgefahr, Halbkugelformen - Erstickungsgefahr « Nicht
geeignet fur Kinder unter 36 Monaten - Sturzgefahr - Bewahren Sie die
Montageanleitung fur eine spatere Nutzung auf + Auf einer ebenen Flache
von mindestens 2 m von einer Struktur oder einem Hindernis wie Zaun,
Garage, Haus, Uberhdngenden Zweigen, Wascheleinen oder elektrischen
Drahten entfernt aufstellen « Sollte nicht Uber Beton, Asphalt oder anderen
harten Oberflachen angebracht werden + Es wird empfohlen, dass alle
wichtigen Teile/Befestigungen regelmaRig (also am Anfang der Saison und
danach monatlich) darauf Uberpruft werden, ob diese sicher und gut gedlt
(falls metallisch) und intakt sind, und keine. Es wird empfohlen, dass alle
wichtigen Teile/Befestigungen regelmaRig (also am Anfang der Saison und
danach monatlich) darauf Uberpruft werden, ob diese sicher und gut gedlt
(falls metallisch) und intakt sind, und keine scharfen Ecken und Kanten
aufweisen. Ersetzen, dlen und/oder ziehen Sie die Teile fest, wenn nétig.
Wenn Sie dies nicht tun, kann dies zu Verletzungen oder Gefahren fuhren -
Jegliche Befestigungen wie Schaukeln, Ketten, Seile etc. missen regelmaRig
auf Abnutzung Uberprift werden. Ersetzen Sie jegliche Befestigungen,
wenn diese Abnutzungen aufweisen. Wenn Sie dies nicht tun, kann dies zu
Verletzungen oder Gefahren fUhren + AuBBer Reichweite von Tieren halten

* Material nicht in den Mund nehmen + Nach der Verwendung, Hande
waschen + Warnhinweis: In Personen, die sensibel auf bestimmte Stoffe
reagieren, konnte es eine allergische Reaktion hervorrufen + Hochstgewicht
des Benutzers 50kg + Moglicherweise muss sichergestellt werden, dass die
Folie nicht direkter Sonneneinstrahlung ausgesetzt ist, um ein zu starkes
Erwdrmen der Oberfldche zu verhindern « Muttern und Schrauben nicht
zu fest anziehen, da diese dann brechen kénnen, was méglicherweise zu
Strukturversagen fiihrt + Keine Anderungen am Produkt vornehmen. Das
kann zu Gefahren und Verletzungen fihren « Achtung. Nicht fur Kinder un-
ter 36 Monaten geeignet. Lange Schnur/Lange Kette. Strangulationsgefahr.

ailAR

3 paiiedl jeal 3aY1 aal)

db padd Jleall ol al s il il

pladinl die cpall JLS (e adla ol 8] 3 g 98 ) g peian paly
Sl

L 1Al alasiaS

i 3l o) sgll (3 plasisl

ha (g pa ahal - 50l 36 050 Jhad aladilY mlay Y
sy

g AN shlie i 36 O JUb aladiny mlay ¥
Sl a2 el i Aalal) Cledeilly Laiial
S JS gl e s Y1 e ia 2 el (5 e e g
dual ) Adxie (a5l J3ie 5l Qo) ) Zladl Jie aile
Al eS Al ) Jast

S il Al =l G5 s i) iad e a

gﬁﬁ\‘” 3aliall C.L.».‘}!\ Ji c@ﬂé.wy\

sl Ay die Bl s (Ao (5050 IS5 oLl meaty
kl\:t,\m\e:\\}g} ‘:\..J..A.A:I:I‘)M tkﬂ\ua;&“dﬂ:haﬁ)@.ﬁadsmjc
dniiae il 1) A0l JSAIL Lgasnii g gl (pa (3aaill



J;\‘;;Sz\g;;)asa,;”xOusm\j‘)aum\@‘
leasnin 5 il Jlasind o (o al LegiaDls s il LY
aMdﬁmehs]\eJc ui.\flc\ 3)‘9)4“.3.\9(;&;}.\\.@4J:9i

Ll Bl i gl bl g Lie anhy 8 5aY)
@\ﬂ\dsﬂw\;\J-,;Sz\‘;;é”mqmmyﬂgc\ﬁ
a8y Ldli iy Lo apa s VLAY @l ye 5 Jally il Sl
#\e_w‘;‘cdqguﬂ&z.dugmu\g\}‘y\d\%g

bl sl clilal Gigaa die a3 elly Gl aae oL

pdll = 3alall iy,

Jlaaia¥) 2ay ) Jut ),

Ol alai) sl A Jad 350 5 gxiiall Capny 38 1 a3
I Sause Mol ag,

; 50Kg pasiusdl (351 (oY) 2al
dad) oty miiall dgal 9o pae (e (3 Culiall (e (65 8
8omS A n Gdw Y (s L) el

Al Gy 8 Ca jpalisall 5 Jial gucall Ly alSa) 8 Wl Y
S dle ) a5 Of daindl) (o5 Leuad B,

65\ Sl S35 2ad ’CJAA\ és CSbaxd Ayl ¢l ) a0

Shall el ff Alayl,

PL OSTRZEZENIE!

Minimalny wiek uzytkownika: 3 lat + Wymaga montazu przez osobe
dorostg + Zalecany jest staty nadzér osoby dorostej « Tylko do uzytku
domowego *+ Tylko do stosowania na dworze + Nie nadaje sie dla dzieci
w wieku ponizej 36 miesiecy: mate elementy - ryzyko zadtawienia,
ksztatty potkoliste - ryzyko uduszenia + Nie nadaje sie dla dzieci w wieku
ponizej 36 miesiecy - ryzyko upadku + Zachowaj instrukcje montazu na
przysztos¢ + Produkt nalezy potozy¢ na ptaskiej powierzchni co najmniej
2 m od jakiejkolwiek konstrukgji lub przeszkody, takiej jak ogrodzenie,
garaz, budynek, zwisajace gatezie, sznurki do suszenia ubran lub
przewody elektryczne + nie nalezy instalowac nad betonem, asfaltem |
innymi twardymi nawierzchniami + Zaleca sie regularne (tzn. na poczatku
sezonu, a nastepnie raz na miesigc) kontrolowanie wszystkich na-
jwazniejszych czesci i mocowan, wcelu upewnienia sie, ze sg ezpieczne,
dobrze nasmarowane (w przypadku elementéw metalowych), nie maja
ostrych zakonczer/krawedzi i sg nieuszkodzone. W razie potrzeby nalezy
je wymieni¢, nasmarowac i/lub poprawi¢ mocowanie. W przeciwnym
razie moze doj$¢ do obrazen ciafa lub sytuacji niebezpiecznych + Nalezy
regularnie sprawdzac stan techniczny wszystkich elementdw takich jak
hustawki, faricuchy, liny itp. W razie stwierdze- nia uszkodzen lub oznak
zuzycia nalezy wymieni¢ dany element. W przeciwnym razie moze dojs¢
do obrazen ciata lub sytuacji niebezpiecznych + Nie wktada¢ materiatu do
ust + Po uzyciu umyc rece « Ostrzezenie: Moze wywotac reakcje aler-
giczne u 0s6b podatnych na uczulenia + Maksymalna waga uzytkownika
50kg + Warto zadbac¢, zeby zjezdzalnia nie byta ustawiona bezposrednio
w kierunku stonca, aby zapobiec nieprzyjemnemu nagrzaniu sie jej
powierzchni + Nie wolno za mocno dokrecac nakretek ani Srub, poniewaz
moze to spowodowac ich Sciecie i ewentualne uszkodzenie konstrukji
produktu « Nie nalezy wprowadzac zadnych modyfikacji w produkcie,
poniewaz moze to spowodowac obrazenia ciata lub zagrozenie + Os-
trzezenie. Nieodpowiednie dla dzieci w wieku ponizej 36 miesiecy. Dtuga
linka/Dtugi tancuch. Niebezpieczenstwo uduszenia.

SV VARNING!

Lagsta anvandaralder 3+ ar + Montering av en vuxen kravs - Tillsyn

av en vuxen rekommenderas alltid + Endast fér hemmabruk + Endast
for utomhusbruk « Ej lamplig for barn under 36 manader: sma delar

- kvavningsrisk, halvklotsformer - kvavningsrisk + Ej Iamplig for barn
under 36 manader - risk for fall + Behall monteringsanvisningarna for
framtida bruk « Placera pa en jamn yta minst tvad meter fran byggnader
eller hinder som staket, garage, hus, éverhangande grenar, tvattlinor
eller elledningar + Far inte placeras pa betong, asfalt eller andra

harda underlag - Det rekommenderas att alla delar/ fastanordningar
inspekteras regelbundet (t.ex. i borjan av sésongen och varje manad
darefter) for att sakerstalla att de ar sakra och inoljade (om det ar
metalldelar), inte har ndgra vassa spetsar/kanter och ar intakta. Byt ut,
olja och/ eller spann at vid behov. Underlatenhet att gora detta, kan
resultera i skador eller fara - Alla tillbehdr som gungor, kedjor, rep, osv.
maste inspekteras regelbundet for tecken pa slitage. Byt ut samtliga
tillbehor som uppvisar tecken pa slitage. Underlatenhet att gora detta,
kan resultera i skador eller fara - Placera inte materialet i munnen -

Tvatta handerna efter anvandning + Varning: Kan orsaka allergiska
reaktioner hos kansliga personer + Hogsta anvandarvikt 50kg + Undvik
att placera glidenheten i direkt solljus for att forhindra att ytan blir
obehagligt varm + Dra inte at muttrar och skruvar for hart eftersom det
kan f& dem att slitas ned och potentiellt orsaka strukturella fel « Gor inga
andringar pa produkten, det kan leda till skada eller fara + Varning. Inte
lamplig for barn under 36 manader. Langt snére/lang kedja. Risk for

strypning.
NL WAARSCHUWING!

Minimum leeftijd van gebruiker: 3 jaar + ViyZaduje se montaz dospélou
osobou + Doporucuije se po celou dobu dozor dospélé osoby + Pouze

pro domaci pouZitl - Pouze pro venkovni pouZitf + Niet geschikt voor
kinderen jonger dan 36 maanden: kleine onderdelen - verstikkingsgevaar,
halfbolvormige onderdelen - verstikkingsgevaar + Niet geschikt voor
kinderen jonger dan 36 maanden - valgevaar * Ponechejte si montaznf
navod pro budouci pouziti + Plaats op een vlak opperviak op minstens 2m
van constructies en obstakels zoals hekken, garage, huis, overhangende
takken, waslijnen of elektrische draden - Nesmi se instalovat nad betonowvym,
asfaltovym nebo jakymkoliv jinym tvrdym povrchem + Doporucuije se, aby
vSechny hlavni dily/upeviovaci prvky byly pravidelné kontrolovany (napr.

na zacatku sezény a pak jednou za mésic), zdali jsou fadné zajistény, dobre
amazany (u kovovych prvkd) a zdali nemajit Zadné ostré body/hrany a zdali
jsou kompletni. V pfipadé potfeby je vymérite, namaZte a/nebo utadhnéte.
Pokud tak neucinite, mZe to vést k Urazu ¢ ohroZenf + VSechna prislusenstvi,
jako napr. houpacky, fetézy, lana, atd., je nutno pravidelné kontrolovat, zda
nevykazuijf priznaky opotfebeni. Vyménite jakakoliv prislusenstvi, jestlize
Zjistite priznaky opotrebeni. Pokud tak neucinite, mliZe to vést k Urazu i
ohroZzeni + Stop het materiaal niet in de mond + Was de handen na gebruik -
Waarschuwing: dit product kan allergische reacties veroorzaken bij vatbare
personen + Maximalnf hmotnost uZivatele 50kg + Zorg ervoor dat de glijbaan
niet in de volle zon staat, zodat het opperviak niet te heet wordt * Draai

de moeren en schroeven niet te vast, anders kunnen ze gaan schuiven en
mogelijk een structurele storing veroorzaken « Maak geen aanpassingen
aan het product, dit kan letsel of gevaar veroorzaken + Waarschuwing. Niet
geschikt voor kinderen jonger dan 36 maanden. Lang koord/Lange ketting.
Verwurgingsgevaar .

CZ VAROVANI!

MinimalIni vek uZivatele je 3 let - VyZaduje se montaz dospelou osobou

+ Doporucuje se po celou dobu dozor dospélé osoby + Pouze pro
domaci pouzit + Pouze pro venkovni pouzitf « Nenfvhodné pro deti
mladsi 36 mesicu: drobné soucasti - nebezpeci uduseni, polokulovité
tvary - nebezpeci zaduseni - Nenf vhodné pro déti mladsi 36 mésicd -
nebezpedi padu + Ponechejte si montazni navod pro budouci pouzitf *
Produkt umistéte na rovny povrch, minimalné 2 metry od jakékoli stavby
nebo prekazky, napriklad plotu, gardze, domu, vétvi, $Sndr na pradlo nebo
elektrickych kabell « Nesmi se instalovat nad betonovym, asfaltovym
nebo jakymkoliv jinym tvrdym povrchem - Doporucuije se, aby vsechny
hlavni dily/upeviiovaci prvky byly pravidelné kontrolovany (napf. na
zatatku sezény a pak jednou za mésic), zdali jsou Fadné zajistény, dobre
namazany (u kovowych prvkd) a zdali nemajit Zadné ostré body/hrany

a zdali jsou kompletni. V pripadé potfeby je vymérite, namazte a/nebo
utdhnéte. Pokud tak neucinite, mdZe to vést k Urazu ¢iohroZen - V3echna
prislusenstvi, jako napr. houpacky, fetézy, lana, atd., je nutno pravidelné
kontrolovat, zda nevykazujipfiznaky opotrebenti. Vymeénte jakakoliv
prislusenstvi, jestlize zjistite priznaky opotfebent. Pokud tak neucinite,
mUZe to vést k Urazu ¢ ohroZeni - Nevkladejte si material do Ust + Po
pouZziti si umyjte ruce + Upozornéni: O osob s pfislusnou predispozici
muze zplsobovat alergické reakce + Maximalni hmotnost uzivatele 50kg
+ Doporucujeme zajistit, aby sklicko nebylo obraceno pfimo ke slunci, aby
povrch nebyl nepfiiemné horky « Matice a Srouby nepretdhnéte, nebot
by to mohlo zpUsobit jejich opotiebeni a pripadné zapricinit konstrukenf
selhanf - Neprovadéjte Zzadné Upravy produktu, nebot by to mohlo mit za
nasledek zranéni nebo nebezpelnou situaci * Upozornéni. Nevhodné pro
déti mladsi 36 mésicl. Dlouha sndra/dlouhy Fetéz. Nebezpedi uskrcent.

SK UPOZORNENIE

Minimalny vek pouzivatela je 3 rokov * Vyzaduje sa montaz dospelou
osobou - Dozor dospelej osoby sa odportca poceld dobu - Iba pre
domace poutitie + Iba pre vonkajsie pouZitie * Nevhodné pre deti
mladSie ako 36 mesiacov: malé castice - riziko zadusenia, polgulové
tvary - riziko zadusenia + Nevhodné pre deti mladSie ako 36 mesiacov
- riziko padu + Ponechajte si ndvod na montaz pre pripad buddceho
pouzitia * Umiestnite na rovnd plochu minimalne 2 metre od akejkolvek
konsStrukcie ¢i prekazky, ako je plot, garaz, dom, previsajlce vetvy
stromu, 3ndry na susenie bielizne ¢i elektrické vedenie - Nesmie sa
inStalovat nad beténovym, asfaltovym alebo inym tvrdympovrchom *
Odporuca sa pravidelna kontrola (napr. na zaciatku sezény a potomo
mesiac) hlavnych Casti/upevnent, ¢i s zaistené, dobrr naolejované

(ak su kovové), ¢i na nich nie su ostré body/rohy a ¢i st kompletné. vV
pripade potreby ich nahradte, naolejujte a/alebo utiahnite. Zanedbanie
takejto ¢innosti moZe mat za nasledok Uraz alebo iné nebezpeclenstvo

33



+ VSetky pridavné zariadenia ako hojdacky, retaze, lana a pod. musia

byt pravidelne preskdsané ¢i nevykazuju priznaky opotrebenia. Vsetky
zariadenia vykazujuce priznaky potrebenia vymente. Zanedbanie
takejtocinnosti mdze mat za nasledok Uraz alebo iné nebezpecenstvo *
Vyhnite sa kontaktu s Ustami « Po pouziti si umyte ruky « Upozornenie: U
citlivych jedincov mdze wyvolat alergickd reakciu - Maximalna hmotnost
pouzivatela 50kg: Odporucame zabezpecit, aby nebola Smyklavka
vystavena priamemu dopadu slnecnych Itcov, inak sa mdZe jej povrch
neprijemne zohriat + Matice a skrutky nepritahujte viac ako je potrebné,
mbZe to sposobit ich poskodenie a potencidlne vznik sktrukturainej
chyby + Produkt nemodifikujte Ziadnym spdsobom, mohlo by to viest k
zraneniam ¢i ohrozeniu + Opozorilo. Ni primerno za otroke, mlajse od 36
mesecev. Dolga vrvica/Dolga veriga. Nevarnost zadavitve.

DA ADVARSEL!

Minimum brugeralder 3 ar + Skal samles af en voksen - Bgr altid
anvendes under opsyn af en voksen + Kun til hjiemmebrug + Kun til
udenders brug - Ikke egnet til barn under 36 maneder: sma dele - fare
for kvaelning, halvkugleformede former - kvaelningsfare + Ikke egnet til
barn under 36 maneder - faldfare + Gem samlevejledningen til fremtidig
brug - Placer pa en plan overflade, mindst 2 m fra enhver struktur

eller obstruktion som et hegn, garage, hus, overhaengende grene,
tejledninger eller elektriske ledninger + Ma ikke installeres over beton,
asfalt eller andre harde overflader + Det anbefales at tjekke regelmaessigt
(f.eks. i starten af saesonen og derefter hver maned), at alle hoveddele/
fastgarelser er sikre, velsmurte (hvis de er af metal), ikke har skarpe
punkter/kanter og er intakte. Udskift, smer og/eller stram efter om
nedvendigt. Sker dette ikke, kan resultatet blive personskade eller fare

- Alle fastgarelser sdsom gynger, kaeder, reb osv. skal regelmaessigt
undersages for tegn pa nedbrydning. Udskift fastgarelser, hvis der er
tegn pa nedbrydning. Sker dette ikke, kan resultatet blive personskade
eller fare + Kom ikke materialet i munden- Vask haender efter brug

+ Advarsel: | preedisponerede personer kan det forarsage allergiske
reaktioner + Maksimum brugervaegt 50kg -+ Det kan maske vaere relevant
at sikre, at slisken ikke vender direkte mod solen, s& den ikke bliver
ubehageligt varm + Overstram ikke matrikker og skruer, da dette kan

fa dem til at skeere og potentielt forarsage strukturfejl » Foretag ikke
nogen andringer til produktet, da dette kan medfgre skade eller fare +
Advarsel. Ikke egnet for bgrn under 36 maneder. Lang snor/Lang kaede.
Stranguleringsfare.

HU FIGYELMEZTETES!

Minimalis felhasznaldk kora3 év - Felnbtt dsszeszerelése szikséges

+ Minden alkalommal egy felnétt felligyelete mellett ajanlott - Csak
otthoni haszndlatra - Kultéri hasznalatra « Nem alkalmas 36 hénapnal
fiatalabb gyerekek szamara - aproé részek, fulladasveszély, félgémb

alaku alakzatok - fulladas veszély « Nem alkalmas 36 hénapnal fiatalabb
gyerekek szémara - esési veszély + Orizze a szerelési utasitast késébbi
hasznalatra * Helyezze egyenletes fellletre legaldbb 2 méter tavolsagra
barmilyen szerkezettél vagy akadalytdl, mint példaul kerftés, garazs, haz,
tdlnyuld faag, szaritd kotél vagy elektromos vezeték « Nem telepithetd
betonra, aszfaltra vagy barmely mas kemény felUletre « Azt ajanljuk,
hogy a rendszeres hasznalat alatt (vagyis a szezon elején, majd azutan
havonta) valamennyi f6bb rész/szerelvény biztositva legyen, jol olajozva
(ha fém), hogy ne legyenek éles részek és, hogy sértetlen legyen. Cserélje
ki, olajozza és/ vagy tegye feszesebbé ha szikséges. Ennek elmulasztésa
sérllést vagy veszélyt okozhat - Minden felszerelést, példaul hintdt,
ldncokat, koteleket, sth. rendszeresen meg kell vizsgalni minéségromlas
szempontjabdl. Cserélien ki minden mellékletet, ha a minéségromlasnak
jeleitaldlhatok. Ennek elmulasztasa sérulést vagy veszélyt okozhat + Az

anyagot ne vegye szajba - Hasznalat utan mosson kezet - Figyelmeztetés:

Arra valo fogékonysag esetén allergias reakcidkat okozhat + Max.
terhelhet8ség 50kg - Szikség szerint bizonyosodjon meg arrdl, hogy a
cslszda nem a f6 napsutési iranyaban all, igy megakadalyozhatja, hogy a
csUszda felszine kellemetlendl meleg legyen + Ne szorftsa tdl az anyakat
és a csavarokat, mert eldeformalédhatnak és esetleges szerkezeti hibat
okozhatnak + Kérjuk ne végezzen semmilyen médositast a terméken,
mert az sérulést vagy veszélyt okozhat + Figyelmeztetés. 36 hdnapos kor
alatti gyermekek szdmara nem alkalmas. HosszU zsinér/Hosszu lanc.
Fojtasveszély.

TR UYARI!

Minimum kullanici yasi 3 yil « Bir yetiskin tarafindan monte etmesi
gerekir + Her zaman yetiskin gézetimi énerilir « Yalnizca ev kullanimi igin
* Yalnizca dis mekan kullanimi + 36 ayliktan ktguk cocuklar icin uygun
degildir - ki¢Uk pargalar, bogulma tehlikesi, Yarim Kiresel Sekiller

- Bogulma Tehlikesi + 36 ayliktan kiguk ¢ocuklar icin uygun degildir -
disme tehlikesi + Montaj aciklamalarini ileride kullanim igin saklayin +
Herhangi bir yapidan veya cit, garaj, ev, sarkan dallar, camasir ipleri veya
elektrik kablolari gibi engellerden en az 2 m mesafede duz bir zemine
yerlestirin + Beton, asfalt veya herhangi diger bir sert zemin Uzerine
kurulmamalidir - Tim ana parcalarin/ tespit elemanlarinin gvenli,
(metalikse) iyi yaglanmis oldugunu, keskin noktalar/ kenarlar olmadigini

34

ve saglam oldugunu gormek icin dizenli olarak (mevsim basinda

ve sonra her ay) kontrol edilmeleri 6nerilir. Gerektiginde degistirin,
yaglayin ve/veya sikilastirin. Bunlarin yapilmamasi yaralanmaya veya
tehlikeye yolagabilir - Salincak, zincir, halat vs. gibi ekler bozulma belirtisi
olup olmadigini gormek icin dizenli olarak incelenmelidir. Bunlarin
yapilmamasi yaralanmaya veya tehlikeye yol agabilir - Lutfen materyali
agziniza koymayin + Kullanimdan sonra elleri yikayin « Uyari: Meyilli
kisilerde alerjik reaksiyonlara yol acabilir - Maksimum kullanici agirlig
50kg * YUzeyin rahatsiz edici derecede sicak olmasinin énlenmesi icin
kaydiragin glinesin ana yonune bakmamasini saglamak uygun olabilir «
Vida ve civatalari fazla sikistirmayin; ciinkd bu, kirilmalarina ve olasilikla
yapisal bozukluga neden olabilir - Litfen Urtnde hicbir degisiklik
yapmayin, yaralanma ve tehlikeyle sonuglanabilir + Uyar. 36 aydan kdguk
cocuklar icin uygun degildir.Uzun ip/ kordon / zincir. Bogulma tehlikesi.

EL NPOEIAOMOIHZH!

EAGxlotn nAwkia xpriotn 3+ €tn - Attatteltal cuvappoAdynon arnd
EVAALKA * ZUVLOTATAL N CUVEXNC ETBAEPN amtd evrAka + Movo yla
OLKLOKT) XPrion * MOvVo yLa eEwTePLKN Xprion + Aev elvat katdAANAo yLa
TIALSLA KATW TWV 36 PNVWV: TIEPLEXEL ULKPA KOUPATLA - KivSUVO Ttvypoy,
hutogatpkd oxrpata - kivbuvog Tviypou = Aev elvat KatdMnAo ya
TIALSLE KATW TWV 36 pNvWy - KivBuvog Trtwong « PUAGETE TLG 08nyleg
OUVAPHOAGYNONG YL HEAMOVTLKT Xprion * TOTIoBEeTHOTE o€ eTtlTiedn
ETUPAVELA OE ATOOTACN TOUAAYLOTOV 2 UETPWY aTtd OTIOLASATIOTE

S0HN 1) EPTOSL0, OTIWE PPAXTEG, YKapAl, ottitia, KAASLE, AamAWOTPEG 1
NAEKTPLIKA KAAWSLA * N TOTTOBETNON Sev TTPETTEL va yivETaAL TTAVW aTTO
OKUPOSENA, GOPAATO 1) OTIOLASHTIOTE GAAN OKANPT| ETLPAVELA * 2AG
OULBOUAEUOULE VO EAEYXETE TAKTIKG (SNA. otV €vapén tng Bepwrc
TIEPLOSOU Kal, KATOTIWY, pla (popd To prva) av 0Ad ta Bactkd eEaptrpata/
€EQpTAUATa cUVAPPOoYNG lvatl ac@ahn, cwotd Aadwpéva (av elvat
HETAAAKA), XWPLG ayUnPd AKpa/ TIPOEEOXEG KAl AKEPALA. AVTIKAOLOTATE,
AaSWVETE Kau/r oglyyete Ta e§aptrjpata omote anatteltat. ALa@opETIKY,
EVSEXETAL VA TIPOKUYEL TPAUMATLONOG ) KivBuvog * Tuyov eEaptrpata
TIPOOSEONG OTIWG KOUVLEG, QAUGLEEG, OYOWLA KATL TIPETTEL VA EAEYXOVTAL
TOKTIKA yLa eVSELEELS pBOPAC. AVTIKATAOTHOTE OTIOLOSATIOTE EAPTNHA
TIPOCSEONG, AV UTIAPXOUV ONHASLA BOPAG. ALAWOPETIKY, EVEEXETAL

VA TIPOKUYEL TPAUUATIOPOCE 1 KivSuvog + Mn Bdlete To UNKO aTO
oTOpA * TAEVETE TA XEPLA HETA aTtd TNV Xprion + Mpoooyr):EvSexetat

Va TIPOKANBOUV AMEPYIKEC QVTISPATELC O€ ATopA HE TTPOSLABEaN *
Méyioto Bdpog xpriotn 50kg * Zuviotdtat n ToouArBpa va pny etvat
OTPAUHEVN TTPOG TOV MALO TTPOKELUEVOU va PNV {eaTalveTal UTEPROALKA
N EMLPAVELA TNG * Mnv oplyyete uTtepBoAikd ta Taglpddia kat TG BLSeg,
€MELST) UTIOPEL va oTTAc0oLY KAl VA TIPOKUPEL SOUIKO GOAEALA * Mnv
TPOTIOTIOLE(TE TO TIPOLGY, KABWG evSEXETAL va TTpokUPouv Tpavpatiopol
) klvSuvol * Mpoetsotoinan. Aev elvat kat@ANAo yLa TtatsLa Katw

TWV 36 pnvwv. Mepléxel paxkpl kopSovy paxpla ahuotsa. Kivduvog
oTpayyaAopou.

ZH &8

AR P4 3+ %

PN

FRR N B A

A 5K A

AL P A

AESE 36 MHUTHIJLE - MBGEREBK, PRIk -
PERE9SN A

ANEA3Z LU LE -

B X eyl B AT IR 2 A 2 b LA TR

TEKFRE -, HEB T T@AeEmyaEs 2 oK, W
WSS ERE. JBR. ISRIMEL . Mk agal Lk

NG BEAEKYe s AR BT A oA R Ag R ) -

CHVUER (B2, RS KMAETE EER 4/
T afal, bk CERERIA B ER R/ A% H
SEUFTCH . L EERT R, Ly

/e %, B RESE R ESEE

WIE AR B BT A B (BlnAk T, §i5%. 4R A LT
Fo HAPIRAE, NEH . BT RS IE G E e fEE
s 57 iR Fr R e,

DI N  H

HEERT.

L X HBABMNE, s PRI .
M B KK E 20kg

I K P ARE 50kg



i B R AN ZERE I B AR 0 TRAE B B 2 Ak, DL R I AL 3,
LAAIE
?%%ﬁﬂ%ﬁﬁ%ﬁ%,ﬁ%%ﬁﬁﬂ%ﬁﬂ%%ﬁ%%ﬁ
THZI AT AR R, A AT RE BN S BE
i NER3S T LE-KA/ KEE, Biifaik

IS VIDVORUN!

Lagmarksaldur notanda 3 ar + Samsetning af halfu fullordinna

askilin + Eftirlit af halfu fullordinna askilid éllum stundum + Adeins

til notkunar innanhuss + Adeins til notkunar utanhuss + Geymid
leidbeiningahandbdkina til sidari uppflettingar + Setjid a slétt yfirbord
fa.m.Xk. 2 m fiarleegd fra ollum byggingum eda hindrunum eins og
girdingum, bilskdrum, hisum, hangandi greinum, pvottasndrum eda
rafmagnsvirum « Ma ekki koma fyrir & steypu, malbiki eda 6dru hoéréu
yfirbordi - Maelt er med pvi ad allir helstu hlutarnir/festingarnar séu
skodadir reglubundid (p.e. { byrjun timabilsins og manadarlega eftir pad)
m.t.t. pess hvort peir séu dryggir, vel smurdir (ef malmar), hafi enga
skarpa odda/brunir og séu dskemmdir. Skiptid um, smyrjid og/eda herdid
pegar porf krefur. Sé pad ekki gert, getur pad valdid meidslum eda haettu

Skoda parf reglubundid alla aukahlutir eins og rélur, kedjur, reipi o.s.frv.
Skiptid um aukahluti ef merki eru um skemmdir. Sé pad ekki gert, getur
pad valdid meidslum eda haettu « Vinsamlegast haldid dyrum i 6ruggri
fiarleegd fra vorunni - Hdmarkspyngd notanda 50 kg + Pad kann ad vera
videigandi ad tryggja ad rolan snui ekki i solaratt til ad koma f veg fyrir ad
yfirbordid verdi dpaegilega heitt - Vinsamlegast gerid engar breytingar &
vorunni, pad getur valdid meidslum eda haettu - Vidvorun. Ekki vid haefi
barna undir 36 manada aldri. Long sndra / Long kedja. Hengingarhzetta.

FlI VAROITUS!

Ei alle 3-vuotiaille + Aikuisen on koottava tuote + Aikuisen on valvottava
kayttda koko ajan + Vain kotikdyttdon « Vain ulkokayttdon « Ei sovellu

alle 36 kuukauden ikdisille lapsille. Sisaltaa pienid ja pyoreita osia, jotka
voivat aiheuttaa tukehtumisvaaran - Ei sovellu alle 36 kuukauden ikdisille
lapsille - putoamisvaara + Sdilyta nama ohjeet * Sijoita trampoliini
tasaiselle alustalle siten, ettd ymparilla on vahintadn 2 metrid vapaata
tilaa. Varmista, ettei lahella ole aitaa, autotallia, taloa, roikkuvia oksia,
pyykkinarua, sahkdlinjoja tai muita esteitd + Ald asenna betonin,

asfaltin tai muun kovan alustan ylle + Suosittelemme tarkistamaan
saanndllisesti (esimerkiksi kauden alussa ja sitten joka kuukausi), etta
kaikki tarkeimmat osat/kiinnitysosat ovat turvallisia, kunnolla dljyttyja

(jos metallisia) ja ehjid ja ettei niissa ole terdvid kulmia/reunoja. Vaihda,
6ljya ja/tai kirista tarvittaessa. Muutoin seurauksena voi olla tapaturma
tai vaaratilanne - Tarkista kaikki lisdosat, kuten keinut, ketjut, kdydet
jne. saanndllisesti heikentyneiden osien varalta. Vaihda lisdosat,

mikali niissa on merkkeja kulumisesta. Muutoin seurauksena voi olla
tapaturma tai vaaratilanne « Pida eldimet turvallisen etaisyyden paassa
tuotteesta * Ald laita materiaalia suuhun + Pese kadet kayton jalkeen -
Varoitus: Saattaa aiheuttaa allergisia reaktioita altistuneille henkilGille

+ Kayttajan enimmaispaino 50 kg + Kannattaa varmistaa, etta liukuosa

ei ole aurinkoon pain, jotta pinnasta ei tulisi epamiellyttavan kuuma
Ala muuntele tuotetta. Tuotteen muuntelu voi johtaa tapaturmaan tai
vaaratilanteisiin « Varoitus. Ei sovellu alle 36 kuukauden (36 kk) ikdisille
lapsille. Pitka naru tai pitka ketju. Kuristumisvaara.
JpERH!

CHERNE 3L IR Y & 9.

KANO T BHALT B BERD Y £ 7.

W KA OB BETT .
CHREETOMHICIRY & 3,

AT DAY & 7,

Y27 VI RFCREL TS L

7y A, HE, B BusrRSo k. MTL. &
B & OREEVCRETEY 2 6 HfRemBEf 72 KF % [ R
BL TS0,

AY Y=t TAZ 70 b EDEGEO Lk E
LaxuTran,

EWI (D& 0. MAMHORY & 2 ORI §X
TOELMESLHFHMALET, o EEmAERA S N
TWT (BRBOEBE) « Rolediag ¥y boAL < K
faaia L EERT 2oL bEDL £, LETDH
SR, OB AT, MO EiTv£9 . HiE
Bokga., BReL LY., falssl & TRE & &
N&v.

7'S5va, Fx—r., a—7 R ETXNTONEERIE .
ERL T 0WhEMNC SR 20ER»HD £ 3. &
Fil T aait. B L TS 0u, miR
rRoGE. REELEY, EMES & THERE
0 &7,

CORGBEHYOMIC e LERAD B E DL TLE
Sy,

B KT A B50kg

REBML s Dz, AF4 FIEFHEHN K275
mumiFehHCTBZELDNTL &9

MEAMEL VTS0, BRE2LD. GBHBOJR
HeEnn &,

NO ADVARSEL!

Minimum brukeralder 3 ar - Ma monteres av voksne + Ma vaere under
kontinuerlig oppsyn av voksne « Kun for hjemmebruk « Kun for utenders
bruk - Ikke egnet for barn under 36 mdneder: sma deler - kvelningsfare,
hemisfeeriske former - kvelningsfare - Ikke egnet for barn under 36
maneder - fare for fall - Oppbevar denne bruksanvisningen for senere
bruk + Plasseres pa en plan overflate minst 2 meter fra eventuelle
bygninger eller hindringer, f.eks. gjerde, garasje, hus, overhengende
grener, tarkesnorer eller elektriske ledninger « Ma ikke monteres over
betong, asfalt eller andre harde overflater - Det anbefales at man
regelmessig (pa begynnelsen av sesongen og deretter hver maned)
kontrollerer at alle hoveddelene og festene er sikre, godt festet, godt oljet
(for metalldeler), ikke har noen skarpe punkter eller kanter og er hele.
Bytt ut deler, olje dem eller stram dem til nar nadvendig. Hvis du unnlater
a gjore dette, kan det medfere skader eller fare + Alle festede deler og
tilbeher, f.eks. husker, kjettinger, tau osv. ma kontrolleres regelmessig

for slitasje. Bytt ut deler som har tegn til slitasje. Hvis du unnlater & gjare
dette, kan det medfare skader eller fare « Hold dyr pa trygg avstand fra
dette produktet + Ha ikke materialet i munnen - Vask hender etter bruk

+ Advarsel: kan forarsake allergiske reaksjoner hos utsatte personer *
Maksimal brukervekt 50 kg + Det kan veere ngdvendig a pase at sklien ikke
er rettet direkte mot solen for & forhindre at overflaten blir ubehagelig
varm - Du ma ikke utfere endringer pa produktet, da dette kan fare til
skade eller fare - Advarsel. Ikke egnet for barn under 36 maneder. Lang
snor/langt kjede. Kvelningsfare

PT AvISO!

Idade minima do utilizador: 3 anos + Necessaria a montagem por um
adulto + Necessaria a supervisdo de adultos em todas as ocasides
Apenas para uso doméstico + Apenas para uso no exterior - Guarde
este manual de instrugdes nos seus registos + Colocar numa superficie
nivelada a, pelo menos, 2 metros de distancia de qualquer estrutura ou
obstrugdo, como uma cerca, garagem, casa, ramos de drvore suspensos,
cordas da roupa ou cabos elétricos + Ndo pode ser instalado sobre
cimento, asfalto ou qualquer outra superficie dura « Aconselhamos

a, de forma regular (ou seja, no inicio da temporada de utilizacdo e
depois mensalmente), verificar se todas as pegas principais/fixacoes
estdo fixas, bem oleadas (se forem metélicas), ndo tém bordas afiadas e
estdo intactas. Substituir, olear e/ou apertar sempre que necessario. O
incumprimento destas instru¢des pode resultar num ferimento ou perigo
- Quaisquer acessdrios, como baloicos, correntes, cordas, etc.,, tém de
ser verificados regularmente quanto a danos de deterioracdo. Substituir
quaisquer acessorios se houver sinais de deterioragdo. O incumprimento
destas instru¢des pode resultar num ferimento ou perigo + Mantenha
0s animais a uma distancia segura deste produto + Peso maximo do
utilizador: 50 kg + Podera ser apropriado garantir que o escorrega

ndo voltado na dire¢do principal do sol para impedir que a superficie
figue desconfortavelmente quente + N3o faca nenhuma modificacdo

ao produto, pois pode resultar num ferimento ou perigo + Atengdo.

Ndo adquado para criangas com menos de 36 meses. Cabo comprido/
corrente comprida. Risco de estrangulamento.

RO AVERTISMENT!

Varsta minimd a copilului: 3 ani * Asamblarea de cdtre un adult

este obligatorie + Supravegherea de cdtre un adult este necesard in
permanentd - Doar pentru uz casnic - Doar pentru utilizare In aer

liber + Pastrati acest manual de instructiuni pentru a-l consulta ulterior
+ Amplasati pe o suprafata plana, la cel putin 2 m distantd de orice
structurd sau obstacol, cum ar fi garduri, garaje, case, crengi care atarnd,
sfori pentru rufe sau fire electrice + A nu se monta pe ciment, asfalt sau
pe orice suprafatd dura + Se recomandd ca, in mod regulat (adica la
inceputul sezonului si, ulterior, lunar), toate componentele principale/
elementele de fixare sd fie verificate pentru sigurantd, sa fie bine
lubrifiate (dacd sunt din metal), sa nu aiba varfuri/margini ascutite si sa
fie intacte. Inlocuiti-le, lubrifiati-le si/sau strangeti-le dacs este necesar.
In caz contrar, ar putea surveni accidente sau pericole + Orice accesorii,
cum ar fi leagdne, lanturi, franghii etc., trebuie sa fie examinate in mod

35



36

regulat pentru a descoperi eventuale urme de deteriorare. inlocuiti toate
accesoriile care prezinta urme de deteriorare. In caz contrar, ar putea
surveni accidente sau pericole * Tineti animalele la o distantd de sigurantd
de acest produs - Greutatea maximd a utilizatorului: 50 kg * Ar putea fi
oportun sa vd asigurati cd toboganul nu este amplasat direct in lumina
solard pentru a evita incdlzirea incomoda a suprafetei. + Nu modificati
produsul sub nicio formd; modificarile ar putea duce la aparitia unor
accidente sau pericole + Avertisment. Nerecomandatd copiilor mai mici de
36 luni. Coarda lungd/lant lung. Pericol de strangulare.

RU BHUMAHWE!

MUHUMaNbHbIN BO3pacT: 3 roga « Coopka AOMKHA OCYLLEeCTBAATLCA
COBEpLUEHHONETHVIM MUOM * [leTV BCeraa A0MKHbI HaXOAMTECA NMOA
HabnAeHeM B3pOUIbIX * TONBKO AN AOMALLHEro MCNoab30BaHNA

+ NS NCNonb30BaHVIA BHe NoMelLeHu « CoOXpaHnTe HacTosLLee
PYKOBOZACTBO Ha byayLLee * YCTaHaBNMBaTb Ha POBHOW MOBEPXHOCTH

1 Ha PacCToOAHNM He MeHee 2 M OT NKOBbIX CTROEHNIA 1 MPENATCTBUI,
TakMX Kak 3a60p, rapax, oM, CBMCatOLLIe BETBY, benbeBble BepeBKY

1 3N1eKTpUYecKne NMPoBOAa * YCTaHOBKa Ha BeToHe, achanbTe 1 160N
[PYrov TBepao MOBEPXHOCTU He A0NycKkaeTcs « PekomeHayeTcs
perynapHo (T.e. B Ha4ane cesoHa 1 Aanee exemecsdyHo) NpoBepATb
BCe OCHOBHbIE AeTaNn/CoOeANHEHNA Ha NMPeAMET HALEXHOCTU, HaNUnA
CMa3kM (BNS MeTanINHecknx AeTanelt), OTCyTCTBINA OCTPbIX Yr0B/Kpaes
1 LenoctHoctn. CMasblBariTe U/unm NpoTArnBanTe CoeAMHEeHVS No Mepe
HeobXxoAMMOCTY. HecobntofeHre STUX UHCTPYKLIIA MOXET NpUBeCTU K
TpaBme * Bce KOMNNeKTyroLLMe, Takme Kak kauenw, Lenn, Bepeskn 1 T.4.
HeobX0AMMO PerynspHO OCMaTpMBaTh Ha Hannuyvie MPU3HaAKoB M3HOCa.
Mpy 0OGHAPYXXEHNM MPY3HAKOB M3HOCA 3aMEeHWTE KOMMAEKTYHOLLME.
HecobntoaeHve 3TUX MHCTPYKLMIA MOXET MPUBECTM K TPaBMe *

He gonyckante XnBOTHbIX K JAHHOMY 134enunto « MakcmanbHbli

Bec nonb3osatens: 50 kr + PekoMeHyeTca He A0oMnyCckaTb NpAMOro
NoNafaHNsa CONHEYHBIX TyYeil Ha MOBEPXHOCTb FOpPKM BO M3bexaHue
Ype3MepHOro Harpesa * He BHOCUTE M3MEeHeH NS B KOHCTPYKLMIO
N34enns — 3TO MOXET MPUBECTU K TPABME W CO3AaTb Yrpo3y.



37



38



WORK WITH US

We are always looking for new innovations
and ideas to grow our brand.

If you have an idea or concept, please visit
www.plumplay.co.uk/inventors

39



Plum Products Ltd,

The Cliff, Middle Street, Ingham,
Lincolnshire, LN1 2YQ, UK

Tel: +44 (0) 344 880 5302
https://www.plumplay.co.uk/contact-us
www.plumplay.co.uk

Plum Products Australia Pty Ltd,
Suite 303, 156 Military Road,
Neutral Bay, NSW 2089, Australia
Tel: (02) 8968 2200

Email: Aushelpdesk@plumplay.com
www.plumplay.com.au

EU Authorised Representative
Vulcan Consulting,

38/39 Fitzwilliam Square West,
Dublin 2, D02 NX53,

Ireland

Copyright Plum Products 2024

w6 C

02467



